LAT DECEMBER -2024
CLASS-4 (ALL SUBJECTS)
ANSWER KEY
ENGLISH

SYLLABUS:
ENGLISH - A watering rhyme
The scholar's tongue

HINDI- TadadT T 31X

qq (é 99 g
MATHS- Play with patterns

EVS- Too much water too little water
Abdul in the garden
Eating together

Note: The syllabus is taken from the month of November.

1. Read the following lines and answer the given questions.

Flowers keep their mouths where
We should wear our boots.
Soak the earth around them.

Name of the poet is

A) Margarat S.Russell
B) P.A.Ropes

C) H.W.Longfellow
D) Ruskin Bond

Ans: (B)
Because the poem is written by him
Competency is to locate information.

Learning outcome is responding in writing in english to questions based on day today life

experiences.
2. Why did pundit shout out words in his mother tongue?

A) In times of difficulty a person speaks only in their mother tongue

B)He knows many language
C)He is fool
Ans: (A)



A.Competency : Reading and locate the information.
Learning outcomes: Identifies the main ideas

Q3. What does 'thirsty feet' mean?

(A) Flowers
(B) Root

(C) Stem

(D) Branches

Ans: (B)

Explanation-Based on understanding of textual content.

Competency is to locate information .

Learning outcome is responding in writing in english to questions based on day today life
experiences.

Q4. Fill in the blanks:
Use their or there

Please put your bag -------

(A) Their

(B) Their

(C) There

(D) Three

Ans: (c) There

Expalanation- Out of all the four options ,There is the correct word.
Competency is evaluate and reflect.

Learning outcomes is uses of correct word

Q5. Read the lines and answer the question.

"The teacher was very happy, because her favourite student should first in board exams. The
word "favorite" isan ora:

(A) Noun

(B) Article

(c) Preposition

(D) Adjective



Ans: (D)

Explanation- because favourite is an adjective.
Competency is evaluate and reflect.

Learning outcomes is use of adjectives.

Q6. The spelling of the word is jumbled. Put the letters in correct order and write the word

arohlcs

(A) Schooler
(B) Scholar
(C) Scholars
(D) Ascoler
Ans: (B)
Explanation: Correct word is Scholar.
Competency is understanding.
Learning outcomes is infers the meaning of unfamiliar words by reading them in context.

Q7 Fill in the blank: | feel tired today. | --------- very well last night.

A) did not slept

B) has not slept

C) did not sleep

D) having slept
Ans: (C) Did not sleep
Competency is evaluate and reflect.
Learning outcomes is use of adjective..

Q8. Fill in the blank: King Akbar was --------- by Birbal's clever Strategy .
(A) Sad
(B) Impressed
(C) Imparessed
(D) Embrace
Ans: (D)



Explanation- Impressed is the correct form of verb here.
Competency is evaluate and reflect.
Learning outcomes is use of verb.

Q9. Choose the odd pair.

(A) Kannada-Karnataka

(B) Tamil Nadu- Tamil

( C) Kerala-Hindi

(D) Andhra Pradesh — Telugu

Ans:( C)

Explanation- Because other pairs are related to the states and languages spoken in that state.
Competency is understanding.

Learning outcomes is infers the meaning of unfamiliar words by reading them in context.
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Q1. The next three numbers for the patterns 2,6, 10 are
A. 12,16,20
B. 14,18,22
C. 14,17,21
D. 12,14,16
Ans: B
Explanation
Next number is increases by 4 each time.
Competency is application of operations of numbers.

Learning outcome is applies the basic operation ( addition).

Q2. The sixth number for the pattern 22, 44,66, 88 is

e HAT IRFA



A. 110

B. 154

C. 132

D. 176

Ans: 132

Explanation

22X6=132

Competency is able to compute accurately.

Learning outcome is applies the basic operation ( multiplication)
Q3. Complete the following alphabet pattern

AAB, BBC, CCD, -

A. DEE

B. DED

C. DDE

D. EDE
Ans: C
Explanation:

Last letter of pattern is repeated twice with next letter each time.
Competency is logical thinking skill.

Learning outcome is know to extend patterns.

Q4.Study the pattern and fill in the missing numbers

13+18=31

15+16=31

? o+ ?=31



A. 17+14=31
B. 11+20=31
C. 19+12=31
D. 21+10=31
Ans: A
Explanation:

First number is increases by 2 and second number is decrease by 2 each time to get the sum
31.

Competency is critical thinking skill.

Learning outcome is develops critical thinking skills.

Q5. If ‘SCHOOL’ is written as ‘RBGNNK’ , how ‘STUDENT’ is written in that code?
A. RSTCDMS

B. TUVEFMU

C. SMDCTSR

D. UMFEVUT

Ans: A

Explanation:

Each letter of SCHOOL is replaced with its just before letter.
Competency is critical thinking skill.

Learning outcome is able to decode the message.

Q6. Study the following pattern and tick the correct type of pattern
1+2+3=6

24+3+4=9

3+4+5=12

A. REDUCING PATTERN



B. ALPHABET PATTERN

C. GROWING PATTERN

D. COLOUR PATTERN

Ans: C

Explanation:

Sum of numbers are grown by 3 each time.

Competency is recognition of pattern.

Learning outcome is able to identify the type of patterns.

Q7. Complete the following number pattern by choosing correct option

013,124, ---------
A. 235

B. 135

C. 356

D. 035

Ans: A
Explanation:

Each digit of number is increased by 1 next time.
Competency is critical thinking skill.
Learning outcome is able to create patterns using critical thinking skills.

Q8. Choose the correct word for following number code

2 15 15 11
A. GOOD
B. LOOK

C. BOOK



D. TOOK

Ans: C

Explanation:

Alphabet order is shown as number code.

Competency is logical thinking skill.

Learning outcome is able to crack the code by identifying the correct order of alphabets.
Q9. Choose the correct example of even number pattern.
A. 2,4,6,7,8

B. 12,14,15,16,18

c. 6,8,10,12,14,17

D. 8,10,12,14,16

Ans: D

Explantion:

Each number is divisible by 2

Competency is recognition of pattern.

Learning outcome is able to identify even number patterns.

EVS

1. Name of the process that happens in a tree is shown in this picture?

Oxygen <— )
¥

% Carbon Dioxide

a) making of food

b) breathing



c) Resting
d) losing water
Correct Answer: A. making of food

Reason- Plants make their own food through a process called photosynthesis. They use sunlight and carbon dioxide to
prepare food and give out oxygen.

Competency is observation and identification.

Learning outcome is to know about photosynthesis.

2. Choose the incorrect statement from the following:

a) The roots of the grass are strong and deep.

b) Roots help a tree to grow.

c) Cabbage is a root.

d) The Desert Oak tree is found in Australia.

Correct Answer: C. Cabbage is root.

Reason- Cabbage is not a root; it is a vegetable that we get from the leaves of the plant
Competency is identification

Learning outcome is record their observation or experiences

3. Community meal served in a Gurudwara, where everyone is treated equally, regardless of their background?

A. Feast

B. Bhandara

C. Buffet

D. Langar

Correct Answer: D. Langar

Reason- Langar is community meal served in a Gurudwara.
Competency is observation and identification.

Learning outcome is record their observation.



4.ldentify the incorrect festival-state pair from the options below:
A. Onam - Kerala

B. Bihu - Arunachal Pradesh

C. Pongal - Tamil Nadu

D. Durga Puja - West Bengal

Correct Answer: B. Bihu - Arunachal Pradesh

Reason- Bihu is famous dance of Assam, not Arunachal Pradesh.
Competency is identification

Learning outcome is identification of festival.

5. How can you save water?

A. By fixing leakage taps

B. By using water wisely

C. By rain water harvesting

D. All of these are correct.

Correct Answer: D. All of these are correct.

Reason- We can save water by fixing leakage taps, by using water wisely, by rain water harvesting.
Competency is discovery of facts

Learning outcome is how can we save water.

6. Observe the picture and identify the name:

| am a big tree. | have roots growing from my branches-

A. Peepal tree

B. Oak tree

C. Banyan tree

D. Neem tree

Correct Answer: C. Banyan tree

Reason- Banyan tree have roots growing from my branches.



Competency is observation and reporting.

Learning outcome is features of trees.

7. The temporary shed built for celebrating bihu is

1. Bhelaghar

2.crib

3.hut

4. cottage

Correct Answer: A. Bhelaghar

Reason- The temporary shed built for celebrating Bihu is Bhelaghar.
Competency is observation and identification

Learning outcome is record their observation or experiences.

8. How much water is there on earth..............

A) 29 %

B) 71 %
C) 50 %

D) 60 %



Correct Answer: A71%
Reason- About 71% of the Earth's surface is covered with water."
Competency is observation and identification

Learning outcome is record their experiences.

9. Why do the drinking water places get dirty?
A) People bath near such places

B) People wash their animals.

C) People clean their utensils.

D) All of these

Correct option is D) - All of these

Reason- Drinking water sources often get dirty because people wash clothes, clean utensils, and bathe animals near
these places

Competency is observation and identification

Learning outcome is record their observation or experiences
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MATHEMATICS

SYLLABUS:

1. Tick-tick- tick

2. The way the world looks

3. The junk seller

Note: The syllabus is taken from the month of August.

Q1. Kiran bought 1kg plastic for Rs.10 but sold 1kg plastic for Rs.12 . How much money does
she earn on selling 1kg plastic?

(A)Rs. 5
(B) Rs. 2
(C)Rs. 10
(D) Rs.1
Ans: B.

Explanation:

Kiran bought 1kg plastic = Rs.10

Kiran sold 1kg plastic = Rs. 12

So, profit is earned by Kiran here because she sold 1kg plastic at higher price. Therefore,
profit =Rs.12- Rs. 10 =Rs. 2

Competency is application of operations of numbers in daily life.

Learning outcome is applies the concept of measurements.



Q2. How many triangles are there in the given figure?

(A)11

(B)12

(C)10

(D)1

Ans: C

Explanation: 10 because on counting the number of triangles formed in the given
figure we find it to be 10.

Competency is identification of geometrical shapes.

Learning outcome is understanding of shapes.

Q3. The flight from Chennai to Dubai took o at 4:45 hours. It landed in Dubai at 9:15 hours.
How long was the flight?

(A)4 hours 15 minutes

(B) 3 hours 55 minutes

(C)4 hours 30 minutes

(D)4 hours 10 minutes

Ans: C.

Explanation: Calculate the duration of time between the two places that is Chennai and
Dubai.

Time of boarding flight from Chennai to Dubai = 4:45 hours

Time of landing of flight at Dubai = 9: 15 hours

Then find the difference in journey timings.

Competency is relates to the time.

Learning outcome is apply the concept of measurement.

Q4. What will this box look like if you opened it up? Choose the correct picture?



(A) (B) (€ (D)

Ans: A)

Explanation-Boxes here represent the opposite faces of a dice and the sum of numbers
written on the opposite faces of a dice must add up to form sum of 7. In option a) the sum
of numbers written on opposite facesis 7 i.e. 3+4 =7

1+6=7

245=7

Competency is application in daily life.

Learning outcome is apply the concept of measurement.

Q5. Choose the smallest amount in the following.

(A)5 coins of fifty paise each

(B) 10 coins of one rupee each

(C) 5 coins of five rupees

(D) each 1 coin of twenty rupees

Ans: A.

Explanation: Answer of option a) gives answer 250 paise which is less than the
amount calculated from option b), c) and d).

Competency is conversion of units of measurement.

Learning outcome is conversion of unit and money.

Q6. | bought a packet of bread for Rs. 38.50 and a packet of butter for Rs. 59.90 . | gave
shopkeeper a note of Rs. 100 . How much money will | get back?

(A)Rs. 0.16

(B) Rs. 1.06

(C) Rs. 1.60

(D)Rs. 6.06



Ans: C

Explanation: Firstly addition of money for bread and butter will be done and then we
will subtract that sum from 100.

Competency is conversion of units of measurement.

Learning outcome is solving problems related to real life situation.

Q7. | gave shopkeeper Rs. 20 . He has to return me Rs. 4 but he gave me Rs. 5 coin as he
doesn't have change. How much do | need to pay him now?

(A)1

(B)2

(C)3

(D) 4

Correct answer is a)-Rs. 1

Explanation- Money received from shopkeeper = Rs. 5
Actual money to be received from shopkeeper=Rs. 4
So, money to be paidis Rs. 5 - Rs. 4 = Rs. 1 Ans: B.
Competency is applies the concept of money.

Learning outcome is application of operations in real life.

Q8. Which of these moves the fastest in a clock?

(N1

’
1y

(A)Hour hand
(B) Minute hand
(C) Seconds hand
(D) None of the above

Correct option is ¢)- seconds hand.

Explanation- A clock has 3 hands which are hour hand, minute hand and second hand.
Among these seconds hand moves the fastest.

Competency is concept of time.

Learning outcome is relates to 24 hour clock with respect to 12 hour clock.



Q9. Write the given date in the word form? 05/09/2024

(A)Fifth nine twenty four

(B) Five nine two zero two five

(C)Fifth september twenty twenty four

(D) Fifth september two thousand twenty four

Correct option is d)- fifth september two thousand twenty four

Explanation- The correct format of writing date 05/09/2024 is fifth september two thousand
twenty four.

Competency is understanding.

Learning outcome is writing of dates in proper format.

EVS

SYLLABUS:

1. Changing families

2. Hu -Tu -tu, Hu -Tu —-tu

3. The Valley of flowers

Note: The syllabus is taken from the month of August.

Q1. All families change in some way as the time passes. The reasons maybe

(A)Birth in the family

(B) Death in the family

(C) Marriage

(D)AIll of the above

Correct option is d)- all of the above.

Reason- Birth, death and marriage in a family leads to increase or decrease in the members
of family.

Competency is identification.

Learning outcome is to explain changes in the family.

Q2. Which part of the flower attract insects?



(A)Petals
(B) Sepals
(C)Stigma
(D)Peduncle

Correct option is a)-petals.
Reason- Petals are the coloured part of the flower and attract the insects for pollination.
Competency is interpretation.

Learning outcome is identification of features of flowers.

Q3. Game that doesn't have a central line in the playground is
(A)cricket

(B) hockey

(C)baseball

(D)hu tu tu

Correct answer is a).

Explanation- All the games have a central line except cricket.
Competency is observation.

Learning outcome is able to understand the games.

Q4. What are the different parts of flowers?




(A)Roots and fruits

(B) Leaf, petals, stamen, pollen

(C)Fruits and stem

(D)Stem and roots

Correct option is b)-leaf, petals, stamen, pollen.

Reason- Leaf, petals, stamen, pollen are the different parts of a flower.
Competency is interpretation.

Learning outcome is identification of features of flowers.

Q5. Where does "Valley of flowers" located?

(A)Himachal Pradesh

(B)Kashmir

(C)Uttarakhand

(D)Punjab

Correct option is c)-Uttarakhand

Reason- Valley of flowers national park is located in Chamoli in the state of Uttarakhand.
Competency is identification.

Learning outcome is identification of place.

Q6. What is shown in Madhubani paintings?



(A)Human beings, animals, trees, flowers and birds

(B) Building, metro cities

(C) God and human being

(D)Machines and technology

Correct option is a)- Human beings, animals, trees, flowers and birds.

Reason- Madhubani paintings depicts scenes which includes Human beings, animals, trees,
flowers and birds.

Competency is observation and idenfication.

Learning outcome is record the information.

Q7. Why is having a strong will and determination important?

(A) to eat more ice-cream

(B) to overcome challenges and achieve success

(C) to watch tv all day

(D) to never play outside

Correct option is a)- Human beings, animals, trees, flowers and birds.

Reason- Madhubani paintings depicts scenes which includes Human beings, animals, trees,
flowers and birds.

Competency is understanding.

Learning outcome is records their observation or experiences.

Q8. Who is the Indian queen of "fields and tracks"?



(A) Karnam Malleshwari
(B) Sania Mirza

(C) Mary Kom
(D)P.T.Usha

Correct option is d)- P.T.Usha

Reason- P.T.Usha is one of India's greatest athletes who has dominated Asian tracks and
field events for most of the 1980s winning 23 medals in all ,14 of which were gold.
Competency is observation and identification.

Learning outcome is records their observation or experiences.

Q9. Festivals are important because they help us to

(A) To know our cultures and traditions

(B) To meet members of our family

(C) they bring happiness and enjoyment

(D)all of the above

Correct option is d)- all of the above.

Reason- Festivals are the means which helps in knowing our culture and traditions ,meeting
members of family and the meet ups with the family brings happiness and enjoyment.
Competency is interpretation and analyzing information.

Learning outcome is identify the relationship with and among family members.






